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01MEE 204 S0HELSHLIISSHE
H: 200 Mlolael
2210 ZARAL 4
5 216 0|42l (cHol: &2
g2 0l ey & 0 4 o HIRE2
ES A 2,012,157 1,687,387 324,770
200 Mlel==¢ 2,012,157 1,687,387 324,770
210 & A2+ 140,009 126,591 13,418
216 Ol Xt==¢ 140,009 126,591 13,418
216-01 B30 =01 4= 5,000 5,000 0
< SYALSH > 5,000 5,000 0
O ZTU3 01X+ 5,000
21602 212t X =201 A== 134,809 121,591 13,218
< SYALASH > 134,809 121,591 13,218
O 2IAEN25+ 01K+ 134,809
— 20048 sXt= Okt 27,521
— 20068 &= sXt= Ok 18,328
— 200698 = Xt= Okt 21,167
— 20079 & 8Xt= Okt 16,535
— 20088 &= Xt= Ok 14,173
— 20008 &= Xt= Ok 15,351
— 20104 X2 01K 21,734
216-03 JIEFOI Kt==L 200 0 200
< SYALSH > 200 0 200
O DIBX23% 01X+ 200
220 LA HA 2= 1,872,148 1,560,796 311,352
222 A= 200,000 200,000 0
222-01 =MAL = 200,000 200,000 0
< SYALASH > 200,000 200,000 0
O £HAL2 200,000
206 EXN3E3 4 1,652,148 1,340,796 311,352
226-01 2 EXNS2 =+ 1,652,148 1,340,796 311,352
< SYALSH > 1,652,148 1,340,796 311,352
O gltsiiass = 1,652,148
— 20048 8tz 698,582
— 20059 &= BXt= 366,564
— 20069 & Xtz 352,789
— 20009 &= 8tz 234,213
229 XNtH e+ 20,000 20,000 0
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